SHEE (SH3EI10A1B~$M4E3A31 A) BT LBEBHHASMBIRR

SF443 H 31 A BLfE
[FPEEICHT ZWA - THEIS] <L T >
X 43 . A W
2 3 A A TR [T T X BiTE
— R =E 55, 051 55, 049 100. 0% 38, 127 69. 3%
THENB— LFERAH 179, 592 170, 671 95. 0% 154, 880 86. 2%
VB RRRx E 1, 966, 329 1, 958, 842 99. 6% 1, 824, 366 92. 8%
KGR 23 128, 460 129, 547 100. 8% 104, 356 81. 2%
FESFERRSG 49,016 49,017 100. 0% 37, 623 76. 8%
& it 2, 378, 448 2,363, 126 99. 4% 2, 159, 352 90. 8%
[—RBEHBRARHEFHEOKR]
<HEE > < HU T > < > < Hf7 s TH >
| x A KT AB 38 KU EH] RAE % BE K THE [BA K XMAH] BITE
SriRAR M OV A 50, 523 50,523 | 100.0% 53 = b 2, 487 147 5.9%
Moo I A 1 2| 200.0% i b3 Eid 51, 764 37, 980 73. 4%
e ik 4 4,476 4,476 | 100. 0% T i i 800 0 0. 0%
E Iz A 51 48 | 94.1% REtl Bt 55, 051 38,127 | 69.3%
A G it 55, 051 55,049 | 100.0%
[EEZAFR—LERBIRHBABREFPEDIRR]
<& A> <Hif7 . FTH> <mk Hi> <HAT T >
T SAXRTHA [3A RG] IUAE K 3ARTHA |37 REHEH] PITHE
AriEde K OV RS 137,189 129, 983 94, % =% £ b 132, 609 112, 069 84. 5%
5 R K OV B} 25,671 23, 939 93. 3% HESTBEEREER 46, 183 42, 811 92. 7%
MooE X A 30 31 | 103.3% T fifi H 800 0 0. 0%
% B & 1 0 0.0% [dasgauan 179, 592 154, 880 86. 2%
i i 4 16,574 16,574 | 100.0%
i 1Y A 127 144 | 113.4%
WA A 179, 592 170, 671 95. 0%
CERRSERARE PROKR]
<k A> < Hf7  FH > <k <HL D FH>
2 SHARTFET (35 EWMAFEH| IWAR T SEEFTHA |38 BFHHFEH PITHE
SRR OMESE| 1,787,111 1,787, 111 | 100.0% W 5] | 1,866,555 1, 726, 608 92. 5%
il e OV EE 1,003 1,225 | 122.1% S & w 97, 774 97,758 | 100. 0%
R 614 614 | 100, 0% Bis i Eid 2, 000 0 0. 0%
[ 1 1,708 1,709 | 100. 1% [dasgauan 1, 966, 329 1, 824, 366 92. 8%
Moo I A 26 27 | 103.8%
e A b 20, 000 20,000 | 100. 0%
e el & 73, 506 73,506 | 100, 0%
B3 1y A 10, 561 2, 850 27. 0%
HH & = 71, 800 71,800 | 100.0%
A Et 1, 966, 329 1, 958, 842 99. 6%
[KEEEXFIHBARHTFHEORR]
<k A <Hfr . FH> <mE > < T T >
K SAXRTHA [3ARMARFS| IUAR K 3ARTHA |37 REHEH] PITHE
AriEde K UM RS 92, 780 92,780 | 100.0% fen £ b 127, 660 104, 356 81. 7%
COEE Y aOS = e 22, 361 23,448 | 104.9% T fifi g 800 0 0. 0%
Moo I A 6 6 | 100.0% kA 128, 460 104, 356 81. 2%
e k 4 13, 107 13,108 | 100.0%
i 1Y A 206 205 99. 5%
A G it 128, 460 129, 547 | 100.8%
[(BEESEXRIHBABRHTFTEORKR]
<k A < Hifi7: TH> <HE > < HA7: FH>
7 SHARTET |3H BWMAEF| IAR T SEEFTHA |38 BFHHFEH PITHE
Sy R4 e OV B4 38,976 38,976 | 100.0% ® i [ 48, 516 37, 623 77. 5%
W I A 3 3| 100.0% T i Eig 500 0 0. 0%
] A b 3,000 3,000 | 100.0% kA 49,016 37,623 76. 8%
i F=i4 4 7,035 7,036 | 100.0%
E3 Iz A 2 2| 100.0%
A A 49,016 49,017 | 100.0%
[(HaHBME] [# ] < B : 1>
< > < HETRIAE ¢ nd > B e S 4 4,985, 289
S B 9 DA B R HSRAT 1,919. 14 Tl N — LA 79, 368, 142
P S R HIERT 1,731. 96 P AL 90, 712, 875
&5 4 AN 13, 139, 00 kIR 20, 691, 248
& &t 16, 790. 10 AR S 6,723,216
& gt 202, 480, 770
HEEoRAES] <HIfL L TH>
THF R it
WWERNE &4 33, 164
7 2 AR G P A i 4 303, 468
e 116, 240
& &t 452, 872




